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o 0.2

£

»0.18

>

20.16

f=

Q

50.14

5

0.12
0.

0.08

0.06

0.04 - fril:

0.02Ff wfemsn -l e

o 0t A B

: |

: ||||“||||||||W\lIIIUIIIIIIIII\IIIII |||
(IR L 1
P 10 20 30 40 50 60 70 80

TP hits

—"— DQM_beforePR

[Efficienc]| —— DQM_correctCheck

o 0.1

20 25
TP layers

Efficiency vs pixel layer

o 0]
%
0.0
Zo.
Q.
20.
)
2o.
2
(%)
EO'O
@
0.0:
0.0;
| i 1 1 i
o v N
T H
) L]
[ T .|.. | -
0. . . .
0O 1 2 3 4 5 6 8
TP pixel layers

Efficiency vs 3D layer

 0.05€

0 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


